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Directions (Q1-Q2): Mark the correct plural form of the given noun.

1. Passer-by
A) Passers-by B) Passers-bys C) Passer-bys D) Passer-byes

2. Looker-on
A) Looker-ons B) Lookers-ones C) Looker-ones D) Lookers-on

Directions (Q3-Q4): Mark the correct comparative degree of comparison when a sentence in the
superlative degree is converted into a sentence in the comparative degree.
3. Lead is the heaviest of all metals.

A) Lead is heavier than all other metals. B) Lead is not heavier than all other metals.

() Lead is heavier than all metals. D) Lead is heavier of all metals.

4. Shakuntalam is the best drama in Sanskrit
A) No other drama is the best drama in Sanskrit.
B) No drama is not the best drama than Shakuntalam.
C) Shakuntalam is better than any other drama in Sanskrit.
D) Better drama is Shakuntalam in Sanskrit.

Directions (Q5-Q6): Mark the part of the sentence that has an error.
5. Theboy who were lazy was punished

A B C D
6. Thisis only one of his poems that are worth reading.
A B % D
Directions (Q7-Q8): Mark the correct preposition to be filled in the gaps in the sentences.
7. In consequence her illness, she could not finish the work in time.
A) of B) with C) for D) about
8. He is afflicted leprosy.
A) of B) from C) with D) about
Directions (Q9-Q10): Mark the sentence that has the correct use of “round” and “right” as noun.
9. A) The evening was a round of pleasures. B) He came round to their views.
C) The earth revolves round the sun. D) We shall round the cape in safety.
10. A) That is a fault that will right itself. B) I will ask for it as a right.
C) He is the right man for this position. D) He stood right in my way.

11. Which one of the following points is said to be the lowest point in India?
A) Kadapa B) Kakinada C) Kurnool D) Kuttanad

12. Which one of the following elements in the Earth's crust is in abundance?
A) Aluminum B) Iron C) Calcium D) Sodium

13. The rationale of “Seat-belts’ primarily thrives on the principle of:
A) Doppler effect B) Friction C) Gravitation D) Inertia
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Under which brand name is Hydroxychloroquine sold?
A) Plaquenil B) Rolaids C) Saltpeter D) Toluol

. Who is reckoned as "hand sanitizer’ legend?

A) Akira Yoshino B) Lupe Hernandez  C) Nadia Murad D) Peter Handke

Which country is not having common border with Russia?
A) Armenia B) Azerbaijan C) Belarus D) Estonia

Lalung Tribe mainly resides in the state of:
A) Assam B) Andhra Pradesh ~ C) Himachal Pradesh D) Rajasthan

Besides India, which country is at present representing Asia Pacific in the UN Security Council?
A) Indonesia B) Thailand C) Myanmar D) Vietnam

Who won the Nobel Prize “for the discovery that black hole formation is a robust prediction of the
general theory of relativity”?
A) Andrea Ghez B) Reinhard Genzel C) Robert B. Wilson D) Roger Penrose

Name the Indian scientist said to be the proposer of Atomic Theory.
A) Aryabhatta B) Bhaskaracharya  C) Kanad D) Nagarjuna

As per Forest Survey of India’s definition, what per cent of tree canopy as a forest make it a
"Green’?

A)S B) 10 C) 15 D) 20
Speed of sound at 25 Deg.C is highest in:

A) Air B) Hydrogen C) Nitrogen D) Oxygen
Who is said to have coined the word “biosphere™?

A) Georges Cuvier B) Edward Abbey

C) Eduard Suess D) George Bellas Greenough

State the river associated with Shivanasamudra Falls.
A) Krishna B) Kaveri C) Godavari D) Tungabhadra

Which of the following sites is recently inscribed cultural site in the UNESCO’s World Heritage
List?

A) Fatehpur Sikri B) Jaipur City

C) Hill Forts of Rajasthan D) Historic City of Ahmedabad

About what percent of the atmosphere on Venus and Mars contains carbon dioxide?
A) 81-84% B) 85-87% C) 91-94% D) 95-97%

As per National education Policy-2020, by which year the Gross Enrolment Ratio in higher
education is to be raised to 50 percent?
A) 2025 B) 2030 C) 2035 D) 2040
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. About how many cricket Test matches has India played so far?
A) 450 B) 500 C) 550 D) 600
Where is Bharat Biotech International Limited headquartered? '
A) Ahmedabad B) Bangalore C) Hyderabad D) Pune

Every year on 1% January, India and Pakistan exchange list of nuclear installations and facilities
covered under the ‘Agreement on the Prohibition of Attack against Nuclear installations between
India and Pakistan’, which was signed in:

A) 1974 B) 1988 C) 1994 D) 1998

What is the equivalent to "1024 exabytes’?

A) Fetabyte B) Petabyte C) Yottabyte D) Zettabyte

Which missiles make Rafale more lethal?

i). Meteor, i1). Python, iii). Scalp, iv). Stinger

A)1iand ii B) i and iii C) ii and iii D) iii and iv

Which of the glands —

i). pineal gland, ii). pituitary gland, and iii). thyroid, make up the endocrine system?
A)iand ii B) ii and iii C)iii and 1 D) i, ii and iii

Starting with the lowest, the correct order of Earth's Atmospheric Layers is:
A) Troposphere, Mesosphere and Stratosphere  B) Troposphere, Stratosphere and Mesosphere
C) Stratosphere, Mesosphere and Troposphere D) Stratosphere, Troposphere and Mesosphere

Starting with the shortest, arrange
i). Beas, ii). Ravi and iii). Sutlej in the order of increasing length.
A) 1, ii and iii B) i, iii and i C)iii, iand ii D) i, iii and ii

The average age of 25 boys in a class decreases by 6 months when a new boy takes the place of a
20 years old boy. The age of new boy is.
A) 7 years B) 6 years C) 7.5 years D) none of these

Mr Sharma travels by car and covers 25% of his journey with a speed of 10 km/h, 45% of his
journey with a speed of 5 km/h and remaining 30% of his journey with a speed of 15 km/h. His

average speed during the whole journey will be.
A) 2.65 km/h B) 5.20 km/h C) 6.50 km/h D) 7.40 km/h

A radio transmitter antenna of height 100 m stands at top of a tall building. At a point on the
ground, the angle of elevation of bottom of the antenna is 45° and that of top of antenna is 60",
What is the height of the building?

A) 100 m B) 50 m 0)50(V3+1)m D)50(3-1)m

What is the unit digit in 3°x 67 77"
A) 4 B) 6 g2 D) 1
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A starts a business with Rs 4000 and B joins the business four months later with an investment of
Rs 5000. After a year, they earn a profit of Rs 22,000. The shares of A and B are.

A) Rs 11,000 and Rs 11,000 B) Rs 12,000 and Rs 10,000

C) Rs 14,000 and Rs 8,000 D) none of these

. A, Band C invested capitals in the ratio 2 : 3 : 5. At the end of the business terms, they received

the profit in the ratio 5 : 3 : 12. Find the ratio of the time for which they contributed their capitals?
A)15:13:12 B)8:3:2 C)5:13:24 D)25:10:24

-4 men and 6 women get Rs. 1600 by doing a piece of work in 5 days. 3 men and 7 women get Rs.

1740 by doing the same work in 6 days. In how many days 7 men and 6 women can complete the
same work getting Rs. 3760?
A) 7 days B) 6 days C) 5 days D) 8 days

The total wages of 3 men, 2 women and 4 boys is Rs 26. If the wages of 3 men is equal to that of 4
women and wages of 2 women is equal to that of 3 boys, find out the total wages of 4 men, 3
women and 2 boys.

A)Rs. 29 B) Rs. 30 C)Rs. 25 D) Rs. 23

A forester wants to plant 66 apple trees, 88 banana trees and 110 mango trees in equal rows (in
terms of number of trees). Also he wants to make distinct rows of trees (i.e., only one type of trees
in one row). The number of minimum rows required are

A)2 B)3 )10 Bnjie

Four bells toll together at 9.00 am. They toll after 7, 8, 11 and 12 seconds respectively. How many
times will they toll together again in the next 3 hours?

A3 B)5 C)4 D)6

46. Roots of the quadratic equation Ty T % + % + i ;a+b#0, are
A)-a, -b ' B) -a, b C)a, -b D)a, b
The minimum fraction, which when added to % + E gives a whole number is
A)21/38 B) 31/38 C) 31/48 D) 38/48
The sum of all two digit odd numbers is
A) 2575 B) 2524 C) 2475 D) 2425
The next term of th S et i

e next term of the sequence —=, =, S

1+ 2vx

1-x

B)1+2vx 0) 1~ 2 ) s

1-x

A)
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50. In the adjoining figure, lines /and m are parallel. Find the value of x in degrees.

A) 100° B) 105° C)110° D) 115°

51. In the given figure, ABCD is a parallelogram. The length of AP is

B
43
iz
[L—F— 10cem ——-—abc
A)2cm B)4 cm C)8cm D) 6 cm

52. A plane is observed to be approaching the airport. It is at a distance of 12 km from the point of
observation and makes an angle of elevation of 60°. The height above the ground of the plane is
A)3V3m B) 4V3 m C)6V3 m D) 2N3 m

53. The upper part of a tree is broken by the wind and makes an angle of 30° with the ground. The
distance from the foot of the tree to the point where the top touches the ground is 5 m. The height

of the tree is
A) 10¥33 m B)V3m C)5V33 m D) V3/5m

54. The area of the triangle ABC with the vertices A(-5, 7), B(-4, -5) and C(4, 5) is
A) 53 B) 35 C)63 D) 36

55. A certain sum in certain time becomes Rs 500 at the rate of 8% per annum SI and the same sum
amounts to Rs 200 at the rate of 2% (SI) in the same duration. Find the time.
A) 20 years B) 50 years C) 30 years D) none of these

56. Which of the following is not hardware?
A) Web Browser B) Monitor C) Magnetic Tape D) Printer

57. Portrait and Landscape in Ms-Office are
A) Page Layout B) Paper Size C) Page Orientation D) All of above

58. Which of the following is used as a primary memory?
A) Magnetic Tape B) RAM C) Optical Disk D) Hard Disk
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An operating system is
A) A collection of hardware components B) A collection of input-output devices
C) A collection of software programs D) All of the above

An unsolicited e-mail message sent to many recipients at once is a y
A) Worm Mail B) Trojan horse C) Spy ware D) Spam Mail

A method of ensuring integrity of a document
A) Firewall B) SSL C) Authentication D) Digital Signatures

Formatting disk involves

A) Copying contents of one disk to another disk

B) Preventing a user from copying the disk

C) Erasing the disk contents and giving it an empty root directory

D) None of the above

A term used for comparison of frequency of different computer systems is:

A) RPM B) GHz C) bps D) CPS

What does a lock !fi symbol mean in the address bar of a web browser?
A) It shows that current URL is locked.

B) It indicates that the identity of URL proved by some third party.

C) It just a graphical symbol.

D) It indicates that URL is a fake link.

Dot-matrix is a type of:
A) Tape B) Printer C) Disk D) Bus

If = stands for greater than, x stands for addition, + stands for division, — stands for equal to, >
stands for multiplication, = stands for less than, < stands for minus, then which of the following
alternatives is correct?

A)3+2<4+6>3x2 B)3x2<4+6+3<2
C)3>2<4-6x3x2 D)3x2x4=6+3<2

In the following number series, one of the numbers does not fit into the series. Find the wrong
number.

225, 289, 338, 374, 397, 415, 424

A) 415 B) 289 C) 338 D) 397

Study the following information and answer the question:

(1) In a class of boys and girls, Arun’s rank is 12" and Mala’s rank is 8"

(ii)  Arun’s rank among the boys is 6" and Mala’s rank among girls is 3",

(iii)  In the class Mala’s rank is 52™ from the other end.

(iv)  From the other end, Arun’s rank among the boys is 26"

How many girls are there between Mala and Arun?

A) Three B) Two C) One D) None of these
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Directions (Q.No.69 & 70): Study the following information carefully:

69.

70.

71.
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73.

74.
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B, C, D, E, F, G, H and ] are sitting around a circle facing at the centre. B is an immediate
neighbour of F and C. E is second to the left of F. G is second to the right of C. D is not an
immediate neighbour of G. There are two persons between Cand]J.

What is J’s position with respect to B?

A) Fourth to the right ~ B) Fourth to the left C)BothA & B D) Neither A nor B

How many persons are between C and D?
A) 2 only B) 4 only C) 5 only D) Either 2 or 4

Madan travelled 4 km straight towards South. He turned left and travelled 6 km straight, then
turned right and travelled 4 km straight. How far is he from the starting point?
A) 8 km B) 10 km C) 12 km D) 18 km

The following diagram shows the number of students who got distinction in three subjects in a total
of 500 students. Study the diagram carefully and answer the question:

Chemistry v Mathematics

What is the percentage of students who got distinction in at least two subjects?
A) 8% B)21.1% C) 10.2% D) 26.8%

If ‘P x Q’ means ‘P is the brother of Q; ‘P+Q’means ‘Qis mother of P’;
‘P — Q’ means ‘Q is sister of P’; and ‘P + Q’ means ‘P is father of Q’, then
Which of the following means T is nephew of R?
(i) RxJ+T () R—-M+T-J (iii) RxJ+TxK
A) (i) only B) (iii) only C) (ii) only D) either (ii) or (iii)

In a certain code language ‘si po re’ means ‘book is thick’, ‘ti na re’ means ‘bag is heavy’, ‘ka si’
means ‘interesting book” and ‘de ti’ means ‘that bag’. Which of the following means ‘that is
interesting’ in that code language?

A)karena B) de sire C)ti poka D) ka de re

Study the following information and then answer the question:

(i) There is a group of five persons A, B, C, D and E.

(i1) One of them is a Horticulturist, one is a Physicist, one is a Journalist one is an Industrialist
and one is an Advocate.

(iti)  Three of them A, C and the Advocate prefer tea to coffee and two of them B and the
Journalist prefer coffee to tea.

(iv)  The Industrialist, D and A are friends of one another but two of them prefer coffee to tea.

(v)  The Horticulturist is C’s brother.

Who is the person who likes coffee but is not the Journalist?

A)A B)B C)C D)D
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76. Find the missing number:

5 21 51
16 109 2 22 53 19 17 ? 48
6 15 13
A)25 B) 129 7 D) 49

77. There are two sets of figures namely the Problem figures containing five figures 1, 2, 3, 4, 5 and
the Answer figures (A), (B), (C), (D). Select one figure from the Answer figures which will
continue the same series as given in the Problem figures.

Problem Figures Answer Figures

T CAAO+|+ S A[ATO]OO A AwOlA P OA 0 P[A=0O

%+ S|s T % O OO0+ %ij¥ P ¢ T 00T O*T O %P T %
(1) (2) (3) 4) (5) A) B) C) D)

78. In the following question, figure (X) is followed by four figures (A), (B), (C) and (D) which show
the possible water-image of figure (X). Choose one which shows the correct water-image of figure
(X).

e S

(X) A) B) 0 D)

79. Which of the following dices is identical to the unfolded figure (X) as shown here?

2
5|1 <3 > <2 > 3>
4 |3
6
A) B) ) D)

X)
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0. The six faces of a cube are coloured black, brown, green, red, white and blue in the following
ways:
(1) Red is opposite to black.
(i)  Brownis adjacent to blue.
(iii)  Blue is adjacent to white.
(iv) Redisatthe bottom surface.
v) Green is between red and black.
Which colour is opposite to the Brown colour?
A) White B) Red C) Green D) Blue

sk ok e kokok
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(Hindi Version)
(For any clarification, Please refer to English version)

Directions (Q1-Q2): Mark the correct plural form of the given noun.
1. Passer-by

A) Passers-by B) Passers-bys C) Passer-bys D) Passer-byes
2. Ldoker—on

A) Looker-ons B) Lookers-ones C) Looker-ones D) Lookers-on
Directions (Q3-Q4): Mark the correct comparative degree of comparison when a sentence in the
superlative degree is converted into a sentence in the comparative degree.
3. Lead is the heaviest of all metals.
A) Lead is heavier than all other metals,

C) Lead is heavier than all metals.

B) Lead is not heavier than all other metals.
D) Lead is heavier of all metals.

4. Shakuntalam is the best drama in Sanskrit
A) No other drama is the best drama in Sanskrit.
B) No drama is not the best drama than Shakuntalam.
C) Shakuntalam is better than any other drama in Sanskrit.
D) Better drama is Shakuntalam in Sanskrit,

Directions (Q5-Q6): Mark the part of the sentence that has an error.

5. Theboy who were lazy was punished
A B & D

6. Thisis only one of his poems that are worth reading.
A B i D

Directions (Q7-Q8): Mark the correct preposition to be filled in the 8aps in the sentences.
7. In consequence her illness, she could not finish the work in time,

A) of B) with C) for D) about
8. He is afflicted leprosy.
A) of B) from C) with D) about

Directions (Q9-Q10): Mark the sentence that has the correct use of “round” and “right” as noun.
9. A) The evening was a round of pleasures. B) He came round to their views,

C) The earth revolves round the sun.

10. A) That is a fault that wil] right itself.
C) He is the right man for this position.

. Wﬁﬁwﬁﬁrwﬁ(ﬁgsﬁ)ﬁﬁmm

A) w=ar B) &t

12 TR & qued ¥ w-a we s 2

A) Frafafras B) witg

D) We shall round the cape in safety.

B) I will ask for it as a right.
D) He stood right in my way.

(Fg) =t Frerest e s 2.
OFFE D) Feemw

C) aftmm D) afegw
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A) TIeR 9HE B) =4 C)TeearEu D) SE
mm%mﬁam@aﬁa@ﬁﬂﬁ?aﬁ%mm%

A) SR B) Aot C) Wreedret D) A
‘%%ﬁaﬁ’%wﬁamwﬁaﬁ?ﬁwm%?

A) s A B)wqd EHTSS C) Afean #0E D) tirex gt
m%m%ﬂ-ﬁm’aﬁﬁmaﬁ%

INE.LER! B) SSIEES C) 3x&@ D) Tg=A
Wﬁﬂﬁ@ﬂ%ﬂmﬁﬁﬂi%

A) F|R B) 3Aer ger C) fewret @ D) Tor
m%m,ﬁﬁ—mﬂmq\mwﬁwﬁ@mﬁﬁﬁmwﬁﬁﬁmm%z
A) TR B) ur=ais C)waRR D) duETH

“ogonr R (ﬁmﬁa)ﬁnﬁrm&m%wﬁaﬁaﬁ@%ﬂwﬁmﬁr%"mmﬁm%
g AR TR fra 7 o

A) g o B) et e C) e & e D) AR IR
mﬁaﬁ%www T AW T

A) FEHEE B) STRERETA C) FIg D) AR
m%“ﬁﬁwa‘%qﬁsw%a@ﬁ,m%mﬁqamﬁwﬁﬁ%mﬁ‘gﬁa’m%
A)S B) 10 ¢y 15 D) 20

fora A 25°Cmﬁﬁﬁﬂﬁi3‘mﬂaﬁ1%

A) T B) BTE3e C) g D) taist
Srawza’ (biosphere)wﬁmarnamm%:

A)Sitsta wgiaar B)usaE W C)veas |4 D) WSt S A3E
ﬁwmﬁ%ﬁaﬁaqﬁmmw@

A) T B) @Eq C) Merad D) et
WEscoﬁﬁﬁaﬁuﬁ@ﬁma@ﬁmeﬁumaﬁmﬁﬁaﬁﬁﬁmm%
A)ﬁ@i‘-ﬁﬁa B) SRR R

C)mﬁ%qﬁﬂﬁ?@r D) SEWEEE & et AR
gﬁaﬂ?wﬂa@%’aﬁmgﬁaﬁﬂﬁeaﬁmwﬁﬁﬁ%

A) 81-84% B) 85-87% C) 91-94% D) 95-97%

wéa faren =ifer - 2020 =i ﬁm,mﬁrmﬁmﬁmaﬂmaﬁma&ﬁ 50% &
e W B '
A) 2025 B) 2030 C) 2035 D) 2040

m%mwmﬁﬁ%ﬁaﬁ?{%@ﬁaﬁﬁ%
A) 450 B) 500 C) 550 D) 600
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A)1974 B) 1988 C) 1994 D) 1998
‘TS 10247 B e 1 8

A) BeTarge B) Yerarge C)drerarse D) Stemrge
FT-F U e 9 e e T &

i) fafesir ii) argeT iii) ThTe iv) Remw

A) i 3R ii B) i 3 iii C) ii 3 iij D) iii 3 iv
FT- A ufeer-

i) wrEfEe afer ) g ofer sk i AT M1, GShre et =y ey 2
A)i 3R i B) ii 3% iji Q) iii 3t i D) i, ii 3R iij

e @ aﬁwaﬂ,g@ﬁaﬁmﬁuqﬁaﬂaﬁm%
A)W,Waﬂz@ﬂm B)g‘@ﬁw{,éﬁﬁama%ﬁﬁrf@ﬁm
C)iﬁﬁ%ﬁ«,ﬁ@maﬁ?;ﬂﬁm D)Qﬁ@ﬁm,ﬁﬁmsﬁrﬁﬁﬁw

T AR T -
) =@ i) @ sk i) TS A 9 W T D A
A) i, ii 3R iji B) i, iii 31K C) iii, i, 3 ii D) i, iii 3K ii

W HH A UH T e 203&%Hs%mwwém§,a}wﬁzsagaﬁ' F s g 6
W e TR ) T T & g
A)7 e B) 6 | C) 7.5 @& D)FFHaad fai2

P ot @ # T T R 3R 10 km/h & TR ¥ 25% | T T 2, 45% |HT 5 km/h
IR A, 30% v 15 km/h ¥ 70 Fan 31 @ W ¥ 5w HET TR B

A) 2.65 kmvh B) 5.20 km/h C) 6.50 kmvh D) 7.40 km/h
moﬁaﬁm%ﬁﬁrmﬁﬁm,ﬁm%ﬁéw@a%aﬁqwmﬁg&@m%w
T FarE oy 45" 2 3k V& B e 77 60° 2 | SR & s w2

A) 100 m B) 50 m C) 503 +1)m D) 503 -1)m
3"%6"x 7" ¥ g 3 Ei: s
A) 4 B)6 C)2 D) 1

A) 11000 ® 3K 11000 ® B) 12000 % 3 10000 %
C) 14000 = 3K 8000 ® D) 379 3 =i of 75t 2
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A B3R CT2: 3:5%a@mﬁi@a€rﬁ%mﬁmnm%mv‘f,aﬂaﬁ5 c3:12 @
FiaTe ¥ S fem 3@ w ma@mwﬂm%maﬁ%mﬁﬁ”ﬁm:
A)15:13:12 B) 8:3:2 C) 5:13:24 D) 25:10:24

43‘@'3?1‘{6ﬁﬁﬁwwaﬁ5ﬁwﬁmmﬁ%ﬁmwoow&ﬁaﬁ%na@rmﬁs
gmﬁaﬁ”uaﬂiﬁfaﬁéﬁwﬁwaﬂ%%ﬁmwmﬁﬁaﬁ%laﬁmﬁ7gﬁqaﬁza33??#
3760 © ¥ fae A0 & @ W

A7 &= B)6 f&t C)5 e D) 8 f&=
3@,2%@14@@@@263@%@ 3@3&#@@4@@3‘%%@
%w%sﬂtzaﬂﬁfﬁw@saﬁaﬁm@%w%,ﬁAN,saﬂﬁaﬂtza@
o e WY A

A)29 B)30 & C)25 % D) 23 %.
@W%a%ébﬁg,ea%%%ﬁsaﬁ?nom%ﬂgwqﬁﬁﬁﬁ(ﬂ@fa‘ﬁa‘r@%%m’
%)mm%laaﬁ,@faﬁﬁaﬂﬁﬁmm%(mwﬁaﬁwma‘nﬁgh
quﬁﬁﬁﬁw%

A)2 B)3 0) 10 D) 12
aﬂﬂﬁﬁmoa@tgﬁwmm%naﬁm: 7,8,1133112%%5%%31333&%333117&
3 weY ¥ farerlt e iR o Ay ai:

A)3 B)5 C)4 D) 6

feramt w=ftenTor . :l+l+—]—;a+b;\t0 %ﬂ@%
a+btx a b x

A)-a,-b B)-a,b | C) a,—b D) a,b
= o, afe = 2.5 ﬁﬁammﬁ\gm?mm%,ag%:
1216
A)21/38 B) 31/38 C) 31/48 D) 38/48
w2 s @ A e W WS
A) 2575 B) 2524 C) 2475 D) 2425
1 1 1
I = I IE B
1+J;’1—x’1—«/}
et B) 1+2x ) 1-24x D) 112‘5‘
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KEY
FORESTER EXAM. HELD ON 01.08.2021 (EVENING SESSION)
FOREST DEPARTMENT, U.T. CHANDIGARH ADMINISTRATION

Q.No. Ans Q.No. Ans Q.No. Ans | Q.No. Ans
I A 21 B 41 D 61 D
2 B 22 B 4 D 62 C
3 A 23 C 43 A 63 B
4 C 24 B 44 D 64 B
5 C 25 B 45 B 65 B
6 s 26 D 46 A 66 B
7 A 27 C 47 C 67 D
8 g 28 c 48 ¢ 68 A
9 A 29 C 49 A 69 c
10 B 30 B 50 B 70 D
1 D 31 D 51 D 71 B
12 A 32 B 52 C 72 c
13 D 33 D 53 C 73 B
14 A 34 B 54 A 74 D
15 B 35 A 55 B 75 B
16 A 36 c 56 A 76 A
17 A 37 D 57 A 77 C
18 D 38 C 58 B 78 s
19 D 39 A 59 C 79 A
20 @ 40 B 60 D 80 A






